. CAREER POWER

HHT/IIM ALUMNI COMPANY

Solutions

S1. Ans.(a)
Sol.

Number - N

Quotient = 2[555 - 445)
=2=110

=220

100011_['220

30
Number = 1000 = 220 + 30

=220030

S2. Ans.(d)

Sol.
X — cows, ¥ — hens
X+y=180=2
4x + 2y = 420
2x +2y =360
4x + 2y = 420
2x 60
x=30
Number of cows = 30

S3. Ans.(c)
Sol.

Team A — x

A adda

publications

Team B — v A COMPREHENSIVE GUIDE FOR
Te + 3 =3(T, — 3

: (Ta = 3) RRB JUNIOR ENGINEER
To+3=3Ta =9 STAGE |

3T, — Tg = 12 ..(i)
Tg — 2 = 2(T, + 2) (Rt mream)
Tg —2=2T, +4

2T, — Tz =—6 ...(ii)
(_:,3TA - :'+jTB =12

T, =18

3x18—-Tg =12
Tg = 54 - 12
=437
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S$4. Ans.(d)
Sol.

xyz=100x+ 10y + =

xzy = 100x + 10z + v

NZy — XyZ = 45

100x + 10z +y - 100x - 10y —z = 45
Oz - 9y = 45

z-v=5

S5. Ans.(c)
Sol.

Let the three numberisa-b,a,a+d
a is first term, d is commeon difference
a+d+a+a-d=30Given

3a=30

a=10

(a+d)(a)(a-d)=910

(10 +d) (10) (10 -d) =91 x 10

(10 +d) (10-d) =91

Putd=3

(10 +3)(10 — 3) = 91|

So,d=3

So greatest numberis=a+d=10+3=13

$6. Ans.(d)
Sol.
A number is divisible by 11, if the difference of sum of its digits at odd places and the sum

of its digits at even places is either 0 or a number divisible by 11.
Difference

=(4+3+7+8)-(248+ %)
=22-10-+

=12 -+

Clearly, » =1

$7. Ans.(b) RRB JE PRIME 2019

Sol

5;?2:34,:]} cs&IT

b=18 ALLIED ENGINEERING
85 + TOTAL TESTS
S8. Ans'(a) 15 Mocks for First Stage
Sol. 7 Mocks for Second Stage
Numbers which do not leave any remainder g[f;evif_us Ye_arsPPrafi_tlceSSe[tsfforFE_:S f‘sltT
~ i ~ ection wise Practice Sets forFirst Stage
[?2' ?] & U‘ 25 B] 20 Topic wise Tests for First Stage
=65&117 20 Topic wise Tests for CS &'IT
HCFofs5&117=13 eBooks (Study Notes)
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S9. Ans.(b)
Sol.
a:b=3:35
b:c=2:3
a:b:c=6:10:15
cc=6:15

I

$10. Ans.(c)
Sol.

axd=cx=h

12 = 54 =27 x 24
648 = 643

$11. Ans.(b)
Sol.
Let the third proportional to 12 and 30 be x.

Then,

12:30::30:x
= 12x=30= 30
=y = I:E':Ii:i[l:l — 75

. Third proportional to 12 and 30 = 75

Mena proportional between 9 and 25 = /9 x 25 = 15
~ Requiredratio=75:15=5:1

$12. Ans.(d)
Sol.
Duplicate ratio of 2a: 6b = [2a)? : (6b)*= 4a® : 36b® = a® : 9b?
Reciprocal ratio of 4a® : 25b* = # : A_L - = 25b%: 4a°
, | _ a s _ 25
~ Required product halrrimiew
$13. Ans.(b)
Sol.
Let the two numbers be x and v
Then,

.U-"x—y= 12andx:y::y:324
= xy=(12)° = 144 and y* = 324x
124
. ¥
3 _ _ E! _ _
=2y3=324x144=(6x3x2P2y=6x3x2=36
144
Sx=-—=4
S
Hence, the two numbers are 4 and 36.

:‘-.ﬁc:ﬁﬂﬂd}’: =324 X
-

RRB JE PRIME 2019
ELECTRONICS

ALLIED ENGINEERING

15 Mocks for First Stage

7 Mocks for Second Stage

5 Previous Years Practice Sets for Electronics
20 Section wise Practice Sets for First Stage
20 Topic wise Tests for First Stage

20 Topic wise Tests for Electronics

eBooks (Study Notes)
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$14. Ans.(b)
Sol.
A:B:C=8:14.22,

B c:D=21:33:44=[21x§):(33x§):[44x§)=-14:22:E'3—3

-'-A:B:C:D=B:14:22:8—:=24:42:66:88

=12:21:33:44
$15. Ans.(b)
Sol. Let the numbers be x and y.
=%, y_x, =30 y_ 3=

Then, v - 30% of x = e e T it
=?E=1><£=E==x:}==2:3

y 53 3
$16. Ans.(d)
Sol.

Abhinav's investment = Rs 6000
Sunil’s investment = (100- 30)% of Rs 6000 = 709% ofRs 6000 = (% * GD{!G) = Rs 4200

Rita's investment = ({100 + 25)% of Rs 4200 = 125% ofRs 4200 = Rs (% ® 42-0'0) = Rs 5250

Total amount invested = Rs (6000 + 4200 + 5250)= Rs 15450
~ Required ratio = 5250 : 15450 =35:103.

$17. Ans.(c)
Sol. Let the numbers be x and y
Then,

~of (60% of x) = = of (20% of y)

$18. Ans.(b)
Sol. Let the number of girls be x.

-

Then, number of boys = 116% of x = %x

| e RRB JE PRIME 2019
- Required ratio = XX = 29 : 25
' CIVIL

$19. Ans.(c) ALLIED ENGINEERING
Sol. _ 85 + TOTAL TESTS
Let the number of boys be % then, number of girls= 1200 of x = b?"l 15 Mocks for First Stage
) . 7 Mocks for Second Stage
b 11lx 65X
sx 4 - = 66 = < = 66 = x = T 30 5 Previous Years Practice Sets for Civil
i . — 20 Section wise Practice Sets forFirst Stage
Number of girls ISE' 20 Topic wise Tests for First Stage
New number of girls = 40 20 Topic wise Tests for Civil
Ratio of Boys & girls =30: 40 = 3: 4 eBooks (Study Notes)
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$20. Ans.(b)
Sol.

Let C's income be Rs % Then B's income = 80% of Rs x = Rs {4—1)

=]

s . dxy 110, 4xy 22x
A's income = 110% of Rs (?) = Rs [m ® ?) = Rs [;)
~A:B:iC=T5: T x=22:20:25
$21. Ans.(a)

Sol. Population in the beginning of the first year
S LN [99?5 x 220 % ﬂ) = 10000
1+ (1] 105 95
$22. Ans.(c)
Sol. Required percentage
— '_Tni _ {100 .
= lmx 1r:rn]% = (32x 100) % = 25%
$23. Ans.(b)
Sol. Required percentage
_ 30 300 L, .6
= [255 x 100] % = 22 = 422 %
S$24. Ans.(c)
Sol.
_ (10 5 A _
10% of 5+50f 10 = (Z= x 5) + (==X 10) = 0.5+ 0.5 = 1.0.
$25. Ans.(d)
Sol.

Let 3606 of 245 — 400 0f 210 = 10 - x.
36 \ 40| A i
Then, (= x 245) = (5-% 210) = 10-x =

88.20-84=10-x=10-x=420=x=5.8.

$26. Ans.(d)

Sol. RRB JE PRIME 2019

Let 4506 of 300 +y/x = 56% of 750 - 10% of 250.
Then, (-2 x 300) +Vx = (2= x 750) — (== x 250) FIRST STAGE

=135+ ‘r"}f 420 - 25 = \x = 260 TOTAL VACANCIES 13,487
= x = (260) = 67600.

55 + TOTAL TESTS
S27. Ans.(b) 15 Full Length Mocks
20 Section wise Practice Sets
Sol. " 2as L 20 Topic wise Tests
159 of 578 + 22.5% of 644 = (= x 578) + (22 x - x 644) —

=86.7 + 1449 =231.5.
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$28. Ans.(c) A adda
SOl. - publications

_ (0 56
140% of 56 + 56% of 140 = (100 A 56) + (IDD X 14[}) A COMPREHENSIVE GUIDE FOR

=78.4+78.4=156.8. RRB JUNIOR ENGINEER
STAGE |

$29. Ans.(a) (English Medium)
Sol. aa
Let the number be x. Then, 15% of 45% of x = 105.3 ' - 4500+

| Questions
24 15 /

:(_—x—xﬂxszms.a
100 oo 100

= x = 3744, » Detailed Explanation of Each & Every Juestion

» B Full Length Practice Mocks

+ B Previous Years' Papers
$30. Ans.(b) LTt o S
Sol.
X0 of 0.3 = 0.03 ::% % 0.3 =0.03

= (u.us x ll}-:l) - 10.

0.3
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